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SECTION - B (Marks 36)

. d
Q.2 Solve the following Questions. (9x4=36) -Q.:JS J=> ©Ylgw plel 5 }w
B o
(i) . 8 )
Reduce the equation 5x——+6=0to quadratic form
X Find the value of p, if roots a, 3 of an equation
and solve. s
8 1x4 OR | x? _2x+ p=0satisfy a relation 3o +4p =5 1x4
é;k}gdﬁwcljw‘ﬁ)353555x—;+6:0 Olglus B )31(})5‘4%5@31:;»@\@50517
(ii) If (x+1)and (x—1)are the factors of Solve the radical equation vx—3+5=x
x> +3px® +gx—1, use synthetic division to find the -S> 68 Jx—3+5=xOlglus Sl
values of pand ¢ .
. " . 1x4 OR 1x4
pobas riesd (Sq 09 p ew Jleatnl S s (S 5
Dy S (x-1) o9 (x+1)S S
“03p @2 S S +3p7 +gr -1
(iii) x y oz I —
If g then show that g par If U=1{1,2,3,...10}, 4={2,3,57}and
3 3 U
M S S esbgan XY 23 B =1{1,3,5,7,9} then verify that (4N B) =(4'UB')
p+a’+r pgr p q r 242 OR _ i1xa
BT A=1{2,3,57},U ={1,2,3,.....,10} 5|
(ANB) = (A UB) S S b 85 B={1,3,5,7,9}
(iv) Resol Xt - . ial fract If 4={,2,3,4} and B={2,3,57}then find 4x B
esolve into partial fractions.
(x 1)(x+1) and a relation R:{(x,y)|xeA,yeB/\y<x}
r=2 3+1 OR: . . _  1x4
0255 BB e 09 ;S Gﬁj?jsm SW ol Ax B $5B=1{2,3,5,7} »9' 4=1{1,2,3,4} 5
x—1)(x+
-L,:’)Se}l.uR:{(x,y)\xeA,yeB/\y<x} )
\J If 4=141,2,3,4,5,6,7}, B=12,4,6,8 d . 3
) 1:2,3,4.5.6.7}, {2.4.6.8) an If terminal ray of 0 is in first quadrant and sin® =—
C = {1,4,7,8} then verify that 4
e (B U C): (A uB)u c then find the remaining trigonometric ratios of 0 .
2 | 1x4 . . . . 3 . 1x4
09 B=1{2,4,6,8}, 4=1{1,2,3,4,5,6,7} 5! X OR o 27 de 3L el Ko asl) sl sind :ZJS| X
S S el B C={1,4,7.8} 025 pokae petid L6 9S3 b 5 g
Au(BuC)=(4uB)uC
(vi) Find Arithmetic Mean from the following grouped data.
Class 20
Intervals 1-9 | 10-18 | 19-27 | 28-36 | 37-45 Resolve minto partial fractions.
389 gslex X — X"+
i:iﬁ\cy 1x4 OR 3+1
s 6| 4 ! 2 2 205 RS e 09 S 63?55 _3)(x )
Gl Sgp 355 Jleatul 55 dlge (29,5 odd g0
—oS polae ol
(vii) Prove that perpendicular from the centre of a circle on a Calculate length of a chord
chord bisects it. AB that stands at a distance
ool 908 3 B9 S o S0 S d)-‘"i S LP)S f":’u 6¢m from the centre of a circle
-2 6,8 chmald S O with radius 10cn . (o]
DA OR 10 ) 8 0 S 10 10 b
6 v S0 dholB 8 59 Sl gl -
polae kel S UB S9 S gwpew. AN M _~B
S
(viii) If a line is drawn perpendicular to a radial segment of a AB =12cm is a chord of circle
circle a'F its outer .end point, it is tangent to the circle at having radius Od = OB = 8cm
that point. Prove it. with centre O. Find radius
S §S ol s dadad wlsy 8 o 5ls (8148 (p,S colf | 1x4 OR : 1x4
09 ¢ Slr LungS dgec 4 dhais el sl éﬁﬂ)—‘ i’ OM of the circle concentric
—2Uon ywlan § 4 J5ls 5gac with the first circle passing
through mid-point M of AB /
B

ANM _“




IS0 8 0950 S0 op 950
oy B ol Gew -2
99 0A=0B =8cm
AB 9 )§l- dﬁ:lZcm
M dais polas y 0503 gl
ool B oils gyl ¢ gm

-5 polas OM

(ix)

In  triangle AABC mBC = 6¢cm, mAC =3cm  and

mBA = 4cm . Calculate projection length x of AC on
BA . C

60°.
0595L 0533 S 2913 S 60° 97 wziS 0,515 S

Draw a circle that touches both arms of an angle of

-2 55 e 55
1x4 OR 1x4
B 4 A X D
28 mBC = 6cm, mAC =3cm o AABC <&din )f|
polae Sl Jb S AC 5 BA g> 59 mBA=4cm
S
SECTION - C (Marks 24)
Note: Solve the following Questions. (3x8=24) -u.a)s J= le}w ‘aw
Q.3 Using the Componendo-Dividendo Theorem, prove Determine variance and standard deviation from
x+7a x+7b ) 14ab the following frequency of distribution.
that —7a x—7b:2Ifx:a+b x| 10 20| 30| 40| s0| 60| 70
. . . = . 4+4 OR 4+4
ol Sg 5,8 Jlamis] S Juuads 9 LS 55 dliaas fFlr]j2]psjpsj4j2jt
+7 +7b 14ab . 3] = SR - P
- 7a x 7b:233x: ab)5|4§uf)§ GBlyaeil SHlas Hgl Co sl cw andld (83 Ul 8 (60
x—=Ta x-— a+ -u:‘)s ‘451,_‘,

Q.4  Find height of a tree if its shadow decreases by 10m, If two arcs of a circle (or of congruent circles) are
when the depression angle of sun rays changes from congruent, then the corresponding chords are equal.
30°to 45° Prove it.

45° 8 25 w300 S 9P agly 8 0g,S Szosw 24 OR 81 e 0515 (o U1 L 0g s Slaie 95 4 (S el ¥4
-2 Bl g0 S i 10 ol K ez SOl 95 Sl g | Sled 39 S O Slate 5
o . 2n o Shed s S 01 9 osr Jleie rwgd 90
-dﬁfwkglgvjléwja .
~UR 2

Q.5 | The measure of a central angle of minor arc of a circle Cireumscribe a square about a circle of radius Scm
is double that of the angle subtended by the and'write down the construction steps.
corresponding major arc. Prove it. sl )3l ol ao e pol=e £ ol S eloy e 5

Vg i v 0 55040 o 98 0 0515 (S S (S 20l oSS L 01l S
S 0w 9B dlate ol pus JMBa ) S350, OR 602
-2 Ggw LS 90 o Dol ) gae
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Z |
Q.2  Solve the following Questions. (9x4=36) -0 JooVlgw 28 oo Zdj:
(i) . x-5 x-4 . Use synthetic division to find the values of / and m if
Reduce the equation = to quadratic form
2x (x+1)and (x—2)are the factors of
and solve. 3 )
x-5 x-4 | 1x4 orR Hhmet 2. 242
éﬁ&@wolﬁw@)wéﬁ?: 3 055 esban pinsd S M 33l 1 co Jlowiel S S (S 3
SX+I +mx+2 wdy S (x—2))3‘(x+1) S
-038 22 Sl
(ii) If o, are the roots of x> =5x+4=0, then find an Solve the radical equation 2+/3x+4 +3x—4=0
equation whose roots are 3o +2and 33 +2. c00S U= 55 2\Bx+4 +3x—4 =0 Slglus 50>
ol B0 i) S X7 —5x+4=0 Slgwea,p S
3B +2,9130 +2 b9y S o 020 JiKad lglue | 1x4 OR 1x4
-Q”
(iii) x oy 2xy+3pg  2x° +3p°
If g then show that 2xy—3pg B Z3p If P={1,3,57}and O=1{2,4,6,8}, then find Px Q
v 43 2% 4352 . B and a relation R={(x,y)\xeP,yeQ/\x+y>9}
TP xz pzfifug)f&ebyyyizlﬁ‘ 3+1 OR o 1xa
2xy=3pq 2x =3p P4 S gl P 0§ 0=1{2,4,6,8} 9 P={1,3,57} 5
-8 polae R={(x,y)[ xe P,y Qnx+y>9} b
iv - — — _
(iv) Resolve 1 il 17 3 into partial fractions: If 4= {1’3’5’7’9}’ B= {2’3’4’5’8} and C'= {1’5’8’10}
(r=1)(x+1)(x+2) then verify that 4L (B C)=(4UB) (4L C)
. . x-7 )
S ee 09 S B93> 55 GGGz D47 OR B={23,4,58}, 4={13,57,9} 5  1xa
PLY oS ol 3SC={1,5,8,10}
AU(BNC)=(4UB)N(4UC)
v) If U ={12.3,....12}, 4={2,3,5,7.11} and Iftefminal ray of O is in first quadrant and cos® :%
B ={2,4,6,8,10,12} then verify that
then find the remaining trigonometric ratios of 6 .
AUB) =A4'NB : . . 2 ¢
( )  1a | OrR o) Tt s 86 W)l cosb == S,
09! A={2,3,5,7,11},U={1,2,3, ..... ,12})5\ . 3*
-5 polre i (L sSS (3L o5 g
S w5 ol g B:{2,4,6,8,10,12}
(AuB)’ =AnNnB
(vi) Find Harmonic Mean from the following grouped data.
Class
intervals 1-5| 6-10 11-15 16-20 | 21-25 3 |
&by gslex Resolve #{21) into partial fractions.
x—1)(x"+
Frequency 27 16 26 72 69 1x4 OR 3+1
s 5 5 g0 03 7S S5 5 — L
Sl o Sow 3,5 Jleniael 55 lge (99,5 odd o R T (=) 1)
-sS pokae lawsl
(vii) Prove that perpendicular from the centre of a circle on a If length of chord AB of a circle
chord bisects it. is 12cmand its distance from
ol 9a 2 39 S o S 5 éd)"b‘s‘{:’; <ot the centre is 8cm, then find
-2 U)S [@-F9P=5Y) L; _
length of the diameter AC
1x4 OR 1x4

12 S (S4B i3 e 0303 S
0035 30 So s el ysl o
S AC 3 § g o 8 Aliold

-2 pobae Sl




(viii) Two tangents drawn to a circle from a point outside it Radii of two intersecting circles are 15¢m and 10cm . If
are equal in length. Prove it. length of their common chord CDis 10cm, find
; 1 o Al g S &S 3,5 o —
0592 S Lr = dﬁﬁ UAJS = distance 4B between their centers
-o8 S50 2l ome Sled eles
C
1x4 OR lﬁa\ 1x4
D
-0 10cm H9\15em 3 yidb puldy S 0g,5ls abld 93
$ 9w 10cm Sk S CD 59 S i S 095l S
-5 pohae AB Aol Sla)s 8 3S1he S 0l
(ix) In triangle ABC mAB = 10cm, mBC =8cm  and Construct a circle of radius 4cm . Draw two tangents
_ o — making an angle of 60° with each other.
mAC =7Tcm . Calculate the projection (x)of ABon S 2 93 Sol -l 0,515 6 el3) yine i 4
BC -0rzeS oeles 93 Iy Sl 4193 87600 gl
1x4 OR 1x4
B X D, C
BY] m@:lOcm, mBC =8cm S o/ ABC e
S S AB »BC e 9w mAC=Tem
-5 polae Sl
SECTION ~ C (Marks 24)
Note: Solve the following Questions. (3x8=24) -02)S J> oYlgw pled
Q.3 Using the Componendo-Dividendo Theorem, prove Determine variance and standard deviation from
x+4y x+4z 8yz the following frequency distribution.
that + =2 if x=
x—4y x—4z y+z Cl | 3-7 | 812 | 13-17 | 18-22 | 23-27
ol Sgw &S Jloatunl Cond Jwad 9 (S 5 dlins | 444 OR ()2 |2 2 3 2 e
x+4y x+4z 8yz
+ =2 ggpx=—— Sl "D £o7 e PR
x—4y  x—4z kd y+z'>s oS Solae Hol o il o S el 60 w3 8 6o
_03)5 eﬁl:.,o db.x}‘

Q.4 : Anairplane pilot at an altitude of 4000m observes two If two chords of a circle (or of congruent circles) are
ships approaching in the same direction along a equal, then the corresponding arc (minor, major, or
straight path. The angles of depression of the ships as semi-circular) are congruent. Prove it.
seen from the plane are 30°and 45°. Determine the St ome 2 518 (3 SOl b 09 Sls Blaiags 4 (S <ol
distance between two ships. 2x4 OR tlaé o 98 Jilaie 93 o5 Ugw iy oo Sl 59 90 | 444

a0 S S e 4000 CABL S Sz (g SO co 5SS
ot Caown (2 Sl e b OLAS 95 45 5 6,8 oyline "
xS -0m @ 25 Sk (S ol dwl) B S
45°,9130° 3 30b Jo 35 wgl) S 0saaS Ugigd
C8 g LS duold Glo ) S O 5 U g
Q.5 | The opposite angles of any quadrilateral inscribed in a Circumscribe a circle about an equilateral triangle
circle are supplementary. Prove it. ABC of side 4cm .
dbliie S )5S 57 $9,515 (S 2 51s (S aS (S b 08l 0,315 yole § ABC e £ 3OV (Sl S
- 5 13 S 5 . .
O B30 2915 G (2915 g ol ) S g S el S
4+4 OR 6+2

(D)




